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f =St =HEE RE(ZELXHENE/RNAUEZAl)
A5 Y F BN (B9 ®R)
- RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 25,926 0 25,926
09 SHAIAHI X &2 500 0 500

O=3&H| 500,000 500
12 JIEtE A= 25,426 0 25,426
OZSFe Bx240 ¥ 29
292,2492 x6%H x103) 17,535
OABAHNSE NHSHALY
292 ,249R x3H x3 x33| 7,891
405 XHAHFEIEHI 10,000 0 10,000
01 XA 2B F S| 10,000 0 10,000
OAZTAE AHHFARY 57 Iyl 2Y
10,000,000 10,000
DY (AL EX /=) 63,689,000 38,211,144 25,477,856
= 53,845,000
Al 9,844,000
PSS I 51,964,000 36,319, 144 15,644,856
= 42,520,000
Al 9,444,000

FHRAIIIIF S22 U= 2214l X 22,000 48,000 A 26,000
308 XHXIEHSOIA 22,000 48,000 A 26,000
01 AXSHHBAEXZ 22,000 48,000 A 26,000

FAHAAIIII? B3 2214 XN

22,000,000 22,000

=H30 43,758,000 35,199, 144 8,558,856
= 40,600,000
Al 3,158,000

308 XAHXIEH SOl A 43,758,000 35,199, 144 8,558,856
= 40,600,000
Al 3,158,000

01 AIXSHMENMNEX= 43,758,000 35,199, 144 8,558,856
F=H20 43,758,000,000& 43,758,000
= 40,600,000
Al 3,158,000

AIB22LUHFE 2sNMII2S A 72,000 72,000 0
308 XHXIEH SO0l & 72,000 72,000 0
11 2I2SHUSHEAXERAEASH] 72,000 72,000 0

O&JIZ222U = ssHII=2 NE
72,000,000 72,000

MNEELEIIR =HH X& 3,002,000 1,000,000 2,002,000
201 B9 2,000 0 2,000
01 AP 22| H| 2,000 0 2,000

OMESRIIT ZNXE AY 28
2,000,000& 2,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
301 LEHZ 3,000,000 1,000,000 2,000,000
01 MI2ZE+5l= 3,000,000 1,000,000 2,000,000
OdE2=2It3 =4l N&{  3,000,000,000& 3,000,000
Aot =4l XA 4,860,000 0 4,860,000
= 1,920,000
Al 2,940,000
207 A RO H| 20,000 0 20,000
02 & AR I 20,000 0 20,000
O&FEI- F=HH XN& =2ctel AF AIAE Y
E 20,000, 000& 20,000
301 LEXZ 1,000,000 0 1,000,000
01 MEIBZE 06z 1,000,000 0 1,000,000
O&EIZ F=Hdl XI& 1,000,000, 000& 1,000,000
308 XX EHHSOIA 3,840,000 0 3,840,000
= 1,920,000
Al 1,920,000
01 AXHHILEXS 3,840,000 0 3,840,000
OFYEA SAISEE XA ALY 3,840,000,000& 3,840,000
= 1,920,000
Al 1,920,000
MAS el FHE HH AL 250,000 0 250,000
403 UHXSHHSA=0l& 250,000 0 250,000
01 XM A= XL 250,000 0 250,000
OMAS ZoHel D8I FHES X ALY
2,500,000& =100t + 250,000
S3FY 32 11,725,000 1,892,000 9,833,000
= 11,325,000
Al 400,000
SILMIE F2 HOSHRA AHE 48,000 1,892,000 A 1,844,000
= 48,000
401 AIEHI L 2 CHEI 48,000 1,892,000 A 1,844,000
= 48,000
01 A& Hl 47,000 1,744,000 A 1,697,000
O3|YAIE B2 HOotRA HE (SAHHI)
47,000,000& 47,000
= 47,000
03 Al 2 THHI 1,000 4,000 A 3,000
OslYaIE B2 MOootRA AIEZRUHI
1,000,000 1,000
= 1,000
FEIR HINGHRA A8 ALY 400,000 0 400,000
401 AIEHI L 201 400,000 0 400,000
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B9 ZZEY =3 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 400,000 0 400,000
OFEIT HMOGHRA HEAY
400,000,000& 400,000
SSZUH= 28 XA 11,277,000 0 11,277,000
= 11,277,000
404 SASHUA=EHES 11,277,000 0 11,277,000
= 11,277,000
01 SAt- S8 E= 11,277,000 0 11,277,000
OF S A S ML A
2,839,000,000& 2,839,000
= 2,839,000
OS7 MK #=Fe Ay
2,816,000, 000& 2,816,000
= 2,816,000
OS7 8SX7 2VLHELAY
5,622,000,000& 5,622,000
= 5,622,000
HWRES(HAEFH)(AMS=EX /=) 276,000 276,000 0
HEHH K= 276,000 276,000 0
SN F=AHASZFHIIS 276,000 276,000 0
702 JISHES 276,000 276,000 0
(EPIE=RSE—= 276,000 276,000 0
OZAN=NEZFHIDlI= 276,000,000 276,000
HE2A U (AS=40)(JIEH/IIE) 210,060 144,169 65,891
el 2l 171,094 108,883 62,211
ol 2| 171,094 108,883 62,211
101 @124l 171,094 108,883 62,211
01 2=+ 158,873 108,883 49,990
o= 158,873
o ZU2RE 158,873
ANzt 22+
12,1243 26 +42 Al 2+ x 128 158,873
02 JIEtE B = 12,221 0 12,221
OLBrADIH #=¢ 12,221
o ZU2RE 12,221
ANzt 2e+4
12, 1243 «2 B «42 A 2t 128 12,221
Jl2Z3l 38,966 35,286 3,680
JlE2&l 38,966 35,286 3,680
201 ¢et24] 18,920 15,240 3,680
01 At 2t 2l 18,920 15,240 3,680
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SA - ZE-B(EA) - NRAY - B S il &t o il
OJIZAr 22l 20,0003 x26YH x128 6,240
O= &l 11,120,000& 11,120
O=AD Xtz 130,000& »12& 1,560
202 oddl 12,246 12,246
01 = LH o4 1l 12,246 12,246
O2tL ol 12,246,000& 12,246
203 YR =2t 3,600 3,600
04 BENSSHRF=LHI 3,600 3,600
OFRN2IYSZ=AHI 3,600,000& 3,600
204 AR A H| 4,200 4,200
01 ¥R A 4,200 4,200
OA==81 % 350,000& »12& 4,200




